File 3Setup Help

Trace Conirol IzC Bus Monitor Application Version 2.1 Date: 1/27/z2006
Hardware Version 0d!
1/27/20068 4:19:56 PM
Operation Memory count = F££f!]
Trace Mode |
: Free-Run
{* Trigger
= Capture Msyg 001 <Stops
M=qg 00Z <Starts [Add: 70 (T ] <ACK:= [#71] <ACK:= [#77] <ACKE:= [#73] <ACKE:= [£74] <ACE:= [£75]
RLUMN | <ACE= [#76] <ACE= [#77] <ACKE> [§72] <ACE: [#79] <ACE= [#74] <ACE> [#7B] <ACHE:>
[#7C]=ACE=[#70 ] <ACK= [#7E]1<ACE= [#7F] <ACK=<Stop= t=178us
Progress Msg 002  <Starc: [Add:20(W) ] <ACK= [$E1] <ACK> [#82] <ACK= [#83] <ACH> [#24] <ACH> [#55]
Cone =ACE=[#86] <ACE=[#287] <ACE=[#828] <ACE=-[#289] <ACE=- [#24] <ACE=[#8EB] <ACE:=-
[#SC] =ACKE= [#30 ] <ACK= [#8E] <ACE= [#28F] =ACK==Stop> t=178us=s
M=g 004 <Startcs [Add: 30 (W) ] <ACE= [#231] <ACE>[#32] <ACHE= [#23] <ACE= [#54] <ACE= [$35]
=ACE= [$96] <ACE=[#27] <ACE=> [#928] <ACE=[#29] <ACE= [#54] <ACE= [#5B] <ACE=
[#9C] =ACE= [#90 ] <ACK= [#9E] <ACE= [#9F] =ACK==8top= t=178us=s
b emaory
M=g 005 =Starts [Add: AO (W) ] <ACK= [#21] <ACE> [#A2] <ACE:= [fA2] <ACHE>= [#b4] <ACK> [#A5]
Byte Count i hex <ACE= [#A6] <ACK= [#A7] <ACK= [§A5] <ACE= [#A9] <ACK> [fAA] <ACE- [#AR] <ACK=
[#AC] =ACK= [#AD ] <ACK= [#AE] <ACKE= [#AF] <ACK==Stop= t=178us
Level HERRNNENER
03 100% Msg 006  <Start: [Add:BO(W)]<ACE= [§Bl]<ACE> [§BZ]<ACE= [§B3] <ACK: [#B4]<ACE= [#BE]
<ACK= [#B6] <ACK=[#B7]<ACK> [#E8] <ACK> [#E9] <ACE> [§EBA] <ACE> [#EE] <ACE>
[#EC] =ACHK= [ #ED ]| <ACK= [#BE]<ACH= [#EF] <ACK==Stop= t=178us=
M=o 007 <Btarts [Add: CO (W) ] <ACKE:= [#C1] <ACKE= [#0F] <ACE= [#C3] <ACE:= [#C4]<ACE:= [#CE]
Timing Waveform
SDa,

Sampling Clock,

|5Elr'|3 - |

Trigger Position

|5Eli'-é - |

Snap5h0t|

Frogress

| Done

SCL

Scale: |[|_|gec]

Capture Time: |127,/2006 4:20:02 Ph

| Comm Fort Status: Open - COM1




